ZCuSnl0Pbl(10-1)D D000 OO OO

gogn ZCuSni0Pbl(10-1)0 00O OD0OOO
godn goooboobboodd

HEN .00/0

goon

goon goobbbbododddeood
ERERERN 13661845828 13661845828
ot

ZCuSnl0Pbi(10-1)0D DO 0D DOOODO

ZCuSnl0Pbl(10-1)D D0 0D0OODDO0ODOODDO0ODODOODDLDO0ODLOOODDOObDOOD(D
ogooooboooboobobooooboo)yboooobodobboooboobbooboobboobo
oooooobooboobooooboobooooboobooooDb@WUooObOooDboobobooDbo
gobbobbboudgoogobobbbdooooobobbbooooobobobobbboddd:Hez2
gobbobobboooue2wuooobo,oobbboboodoogoboboobobooooooo,ogty”
go,0dgodoboboobboodoogubbb,OodHe2 DD oe0s%-e3.0 00 00dgonoon
gobobobo,00oobbbboog,bbobbbzcud0doobboboboooooooobooo

ZCuSn10Pb1(10-)0 0 0000000000000 (10-1000000)00 OZCuSn10Pbld O O GB/T1
176-1987ZCuSn10Pb10 0 0 0 0 0 O O ZCuSn10Pb1(10-)0 00000000 ,00000000000
0000000000000000000000000000002ZCuSn10Phl0OO00O0 Cu
0000 Snd9.0011.50 znO < 0.05(0 0 )0 PbO < 0.25(0 0)0 PO 0,50 1.00 Nid < 0.10(0 O)O

Al < 0.01(0 0)0 FeO < 0.1(0 0)0 MnO < 0.05(0 0)3 Sid< 0.02(0 0)0 SbO < 0050 0)0 S
0<00500)000000< 0.75ZCuSn10Ph10 00000000 6 b(MPa)O= 3300000 o
(MPa)O = 170(000)000 8 5(0)0= 400 O= 885HB(0 0 0)ZCuSn10PhlD 0D OO OO D OO
1000 11500 0 O 0 O 0 9800 10500 0 ZCuSn10Pb10 0000 D0 OO O

Ooooboboooboo,ggcroibogboboobboonobggZzcusnioPhi(lo-noooon
goobobbooooooobbbbtbodooduobbbbbdouUUbDbBo.BBBC7701C6880C7570
0C7350C7521C7541C75200C77000) O U O 0 O O B190J B30 ZCuSn10Pb1(10-1)0 DD OO0 OO D OODO
O0000000b00ocuONOD D000 o0ooboobooobooboos30o0_oooog
gobbobbodooooobobooboddCu-

NiDDOOODOODDOOFeCrSn ZCuSn10Pb1(10-1) D 0D OO TiCoSAID DO OO ODODDOODO
OoodoboooboobobobobuoobbooboobboobOoObnzCusniophi(io-ny)o o
00

ObOooboboooboobboobobuoobuoobbOooboonbzCusniopPhi(lo-)oog o
000000000000 0,0000b000000HPLE3-302000000000000O0O0O00O0O



gobobobobobooooooobobbbbtbdooooobbbbbooooooobbbobgzCusn
OPbl(0-H)OOO0D0 DOOODLbOUObObOOODbOObDObOOODOObbDOODbOObDDbDODODO
gobobobboooooobobbbbooooobbobbbto--0000oobbbbodDb200
O000116%00002zCusSn10Ph1(10-1) 00000 ODOOO0DbOOo0obbooobouobbooobo
goobobooooooobobbobboooogrmmwooboooooooobo


http://www.tcpdf.org

